
n]vf 

sf]* 
cfDbfgL lzif{s 

073÷074 sf] 

;+zf]lwt cg'dfg  

cfo

072÷073 sf]  

oyfy{ cfo 

074÷075 sf] 

cg'dfg cfo 

s  cfGt/Ls >f]t 12000000.0 13081413 14000000

1=1=1 dfnkf]t tyf e"dLs/ 400000.0 1214355.0 0.0

1=1=2 #/ hUUff s/ 0.0 86285.0 0.0

1=1=3 jxfn s/ 10000.0 8181.0 10000.0

1=1=4 lj^f}/L s/ -xf^jhf/_ 500000.0 552350.0 600000.0

1=1=5 Joj;fo s/ 1000000.0 68550.0 100000.0

1=1=6 ;jf/L s/ 0.0 0.0 0.0

1=1=6=1 ;jf/L btf{ tyf jflif{s 0.0 0.0 0.0

1=1=6=2 k^s] ;jf/L s/ 300000.0 0.0 0.0

1=1=7 PsLs[t ;DklQ s/ 3000000.0 0.0 3200000.0

1=1=8 dgf]/~hg s/ 15000.0 12000.0 12000.0

1=1=9 lj!fkg s/ 50000.0 0.0 50000.0

1=2=6 crn ;DklQ d"Nof+sg 100000.0 315815.0 320000.0

1=2=8 cGo ;]jf z'Ns 100000.0 45350.0 50000.0

1=3=1 btf{ tyf gljs/)f b:t'/ 25000.0 500.0 5000.0

1=3=2 gS;f kf; b:t'/ 1000000.0 1782234.0 1000000.0

1=3=3 l;kmfl/; tyf aS;f}gL 4900000.0 8194768.0 7743000.0

1=3=4 gftf k|dfl)ft b:t'/ 150000.0 1943.0 50000.0

1=3=5 cGo b:t'/ 200000.0 142620.0 150000.0

1=5=1 ;fj{hlgs lghL ;fem]bf/L 50000.0 0.0 0.0

1=5=2 cGo >f]t kl/rfng 0.0 171800.0 200000.0

1=7=1 b)* h/Ljfgf 150000.0 153200.0 160000.0

1=7=2 ef*f tyf jxfnaf^ cfo 0.0 0.0 0.0

1=7=6 cGo ljljw cfo 50000.0 331462.0 350000.0

v=  jfx\o >f]t 136278800.0 80117603.0 118616000.0

2=1=1=1 g]kfn ;/sf/ ;zt{ cg'bfg—;f=;' 51988800.0 22724400.0 51988800.0

2=1=1=2 g]kfn ;/sf/ lgzt{ cg'bfg—rfn" 3600000.0 3600000.0 3960000.0

2=1=1=1 g]kfn ;/sf/ lgzt{ cg'bfg—k'“+hLut  37213000.0 14283000.0 30935000.0

2=1=1=2 g]kfn ;/sf/ ;zt{ cg'bfg—k'“+hLut &'nf k"jf{wf/ 

ejg  

10000000.0 10000000.0 10000000.0

gu/ If]q k"jf{wf/ ljsf; sfo{qmd 14302000.0 8743000.0 15732200.0

gu/kflnsf cg'bfg ;f]n/ 2412000.0 0.0 0.0

2=2=1 lh=lj=; cg'bfg 0.0 700000.0 0.0

3=1 /fhZj jf*kmf* cfo 5500000.0 6634001.0 6000000.0

jftfj/)fd}qL sfo{qmd 9790000.0 2100000.0 0.0

:yfgLo zf;g tyf ;fd'bflos ljsf; sfo{qmd 
1473000.0 2403302.0 0.0

cGo lgsfo cg'bfg 0.0 36500.0 0.0

nfut ;xeflutf 0.0 8893400.0 0.0

u= a}s df}Hbft cNof -ut jif{_ 17098815.35 16292343.0 0.0

#= gub df}Hbft cNof -ljut jif{_ 160856.76 170854.0 0.0

hDdf -s,v,u,#_ 165538472.11 109662213.0 132616000.0

           ab{3f6 gu/kflnsfsf]] cg'dflgt cfo -cf=j= )&$÷)&%_



n]vf 

sf]* 
vr{ lzif{s 

073÷074 sf] 

k|:tfljt÷;+zf]lwt 

Joo 

072÷073 sf] 

oyfy{ Joo 

2074÷075sf] 

cg'dflgt Joo 

s ;+rfng vr{ 9065000.0 5684745.0 11610000.0

1=01=1 sd{rf/L tnj 5200000.0 2494053.0 6974000.0

1=01=2 kbflwsf/L kfl/>lds 54000.0 0.0 56000.0

1=01=3 sd{rf/L sNof)f sf]if 200000.0 200000.0 300000.0

1=01=4 ljdf lk|ldod vr{ 80000.0 75000.0 80000.0

1=02=1 sd{rf/L eQf 600000.0 584100.0 1000000.0

1=02=3 a}&s eQf 400000.0 257500.0 350000.0

1=03 ;?jf e|d)f tyf b}lgs eQf 50000.0 87118.0 50000.0

1=04 kf]zfs 160000.0 62860.0 180000.0

1=06 cf}ifwf]krf/ 20000.0 0.0 20000.0

1=08 tflnd sfo{qmd vr{÷sd{rf/L Ifdtf ljsf;   150000.0 124000.0 150000.0

2=01 kfgL tyf ljh'nL dx;'n 75000.0 128314.0 100000.0

2=02 ;+rf/ dx;'n 250000.0 100032.0 200000.0

2=03 sfof{no ;DalGw vr{ 226000.0 363237.0 400000.0

2=04 ef*f 150000.0 135000.0 150000.0

2=05 dd{t ;+xf/ 200000.0 129667.0 200000.0

2=06=2 ;jf/L OGwg 300000.0 268304.0 350000.0

2=06=3 cGo OGwg 25000.0 2800.0 25000.0

2=07=1 k/fdz{ z'Ns 500000.0 395721.0 500000.0

2=8 ljljw vr{ 250000.0 94039.0 300000.0

2=08=2 cfly{s ;xfotf 50000.0 33000.0 50000.0

2=08=3 k'/:sf/ 25000.0 0.0 25000.0

2=08=4 kl/ifb ;+rfng vr{ 100000.0 150000.0 150000.0

9065000.0

v= ;fdflhs ;'/Iff eQf 51988800.0 22724400.0 51988800.0

u= k'+hLut vr{ 104484672.11 80151471.0 69017200.0

3=01 ;fdflhs÷;fj{hlgs ;+:yfnfO cg'bfg 0.0 150000.0 0.0

4=04 sfo{qmd vr{ 7127493.0 500000.0 3148137.0

4=05 sfo{qmd e|d)f vr{ 400000.0 231900.0 400000.0

6=01 kmlg{r/ 200000.0 145918.0 200000.0

6=02 ;jf/L ;fwg 0.0 2665000.0 0.0

6=03 d]zLg/L cf}hf/ tyf cGo pks/)f 200000.0 209534.0 250000.0

6=04 &'nf k'jf{wf/ of]hgf 10000000.0 6000000.0 10000000.0

6=05 ;fj{hlgs lgdf{)F vr{ 58859521.0 34170153.0 34427370.0

8=03=3 nlIft ju{ sfo{qmd vr{ 6380349.0 6240349.0 9639864.0

cfof]hgf Joj:yfkg-sG ]̂Gh];L_ 1401430.0 0.0 851829.0

6=06 k"hLut ;'wf/ vr{ 150000.0 231900.0 300000.0

6=07 cWoog tyf k"hLut k|fljlws k/fdz{ ;]jf vr{ 150000.0 0.0 500000.0

8=03 ;]jfd'ns ;+:yfnfO{ cg'bfg 0.0 0.0 0.0

9=02 e}kl/ cfpg] 200000.0 150000.0 350000.0

9=03 ;dk'/s sf]if÷lkmtf{{ vr{ 5000000.0 2643700.0 7500000.0

7=4 cGo sfo{qmd-jftfj/)fd}qL 11942879.11 6200044.0 0.0

:yfgLo zf;g tyf ;fd'bflos ljsf; sfo{qmd 

LGCDP_ 

1473000.0 2403302.0 0.0

ljleGg sf]ifx? 1000000.0 950000.0 1450000.0

a}s df}Hbft 0.0 17098815.0 0.0

gub df}Hbft 0.0 160856.0 0.0

#= e'QmfgL lbg jf+sL 0.0 1101599.0 0.0

hDdf -s,v,u,#_ 165538472.11 109662215 132616000.0

 ab{3f6 gu/kflnsfsf]] cg'dflgt Joo /sd -cf=j= )&$÷)&%_


